RUILTUY N 284 TTOEE]

NO. 1 NO.2 NO.3
1 [5x+3x 1 |4a+3a 1 |-7x+3x
2 |4a—9a 2 |5x—6x 2 |2a+4a
313a-2b+7a+4b 3 | 22-3y—6x+9y 3 |8a+3b—10a—-5b
4 \5x—7y—2x+3y 4 |4a-3b—a—-6b 4 |7x—4y—-2x-2y
5 |(Bx+2y) + (4dx+3y) 5 | (2a—3b)+(3a+7b) 5 |@x-5y)+(Bx—4y)
6 |(7a +2b)— (3a —5b) 6 | (9x—2y)—(3x—4y) 6 |(2a—b)—(8a+4b)
7 |3(5a—-2b) 7 15Q3x+y) 7 |6(4x—7y)
8 | -8(6x+5y) 8 | -7(7a — 4b) 8 |-9(6a - 5b)
9 |52a+b)+3(a—2b) 9 |3(5x—y) +2(x—2y) 9 |3(a - 6b) +4(2a +5b)
10 |[7(3x—2y) - 5C2x+y) 10 | 2(4x—3y) - 3Cx—y) 10 [5(x+2y) —4QCx+3y)
1116(3a—-b)—-52a—-0b) 11 14(5a +b)—3(7a — 2b) 111252 -y) —-33x—2y)
12 {6ax7b 12 | (-8a) x (-7b) 12 | -5xx 6y
13 [8xx (-3y) 13 |4a x6a 13 | (—4a) x (-8b)
14 | (—x)? x4x 14| 7xx (-5x7%) 14 | (-2a)? x3a
15 | 242%y + 3xy 15|42a°b + (—6ab) 15 | 72ab? + 8ab
16 | -30a°b + 6ab 16 | -32xy% + 4xy 16 | (—48x%y) + (—6y)
17 %x%(—%x) 17| (-Zab) + (&L a) 17 %a2+%a
18 |2a x 3b x 5ab 18 | 3x x 5xx 2y 18 |62y x 4x+ (-8xy)
19 | 2122y + 3xy x (—4y) 19 | (-30ab) = (—5a) x 4ab 19 | 3xy x (—4x) + 2xy
20 |24ab? + (-3ab) x (-5b) 20 | 50y x (—6x) + 2x 20 | 54ab? + (—6ab) x 3a
21| Lsz-3p) - Laz-y) 21| L(5z-9)- £@x-y) 21| L5z 3y - L@z
29 Zx‘?_—y_@ 29 3x;2y _5x;3y 29 7x;5y _3x;5y




RUILTUY N 284 TTOEE]

No.4 NO.5 NO.6
1 [2x+5x 1 |3a+5a 1 |-9x+4x
2 |3a—-7a 2 |4x—6x 2 |5a+8a
3 |5a—-3b+2a+8b 3 |3x-5y—7x+8y 3 |7a+2b—10a—-6b
4 | 7x—-9y—b5x+2y 4 |5a-b-2a—-4b 4 |5x—-3y—4x—-9y
5 |(dx+5y) +(2x+3y) 5 | (4a —2b) + (5a + 8b) 5 [(Bx—3y)+(2x—5y)
6 [(5a+3b)—(2a—-6b) 6 |(7x—3y)—Cx—4y) 6 |(3a—b)—(9a+2b)
7 |4(3a—7b) 7 |16(7x+2y) 7 (8Bx—7y)
8 |-6(4x+9y) 8 |-9(3a —4b) 8 |—4(8az-2b)
9 |3(a+2b)+42a - 3b) 9 |153x—2y)+2(x—6y) 9 |32a—3b)+4(a+2b)
10 (5(4x—2y)—3Bx+y) 10 | 2(4x—5y) — 7(x—2y) 10 [5(3x+5y) — 3(2x + 9y)
1113(7a —b)—5(3a —2b) 11 14(3a +2b)—3(6a - b) 1| 7(x—2y) -3dx—y)
12 |8a % 9b 12 | (—6a) x (~7b) 12| -3xx 7y
13 | 7xx (—4y) 13 |-3a x9a 13 | (-9a) x (-8b)
14 | (-2x)% x 3x 14| 8xx (—6x%) 14 | (-3a)? x4a
15 |272%y + 3xy 15|48a°b + (—6ab) 15 |54ab? + 6ab
16 | -35a%b + 5ab 16 | -56xy” + 7xy 16 | (-36x%y) + (—6Y)
17|+ (—175x) 17 (—%ab) (&) 17 %aZ - 14—5a
18 |2a x 4b x 9ab 18 | 3xx 7xx 2y 18 |62y x 9x + (-3xy)
19 | 242%y =+ 3wy % (—7y) 19 [ (-28ab) +~ (—4a) x 5ab 19 | 7xy x (—4x) + 2xy
20 | 30ab? + (—6ab) x (-3b) 20 | 8xy x (—9x) + 6x 20 | 72ab? + (-8ab) x ba
21| L5z-25) - L-30) 21| L(7z-3p)~ L+ 3y 21| Z@z-y) - T@-21)
29 3x4+y B 2x5—y 29 5x4;3y_2xgj 29 8x;:5y B 5x;3y




